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The Open University of Sri Lanka
B.Sc./B.Ed. Degree Programme
Applied Mathematics — Level 03
ADU3300/ADE3300- Vector Algebra
NO BOOK TEST (NBT) — 2023/2024

DURATION : ONE (01)- HOUR

Date : 02.09.2023 Time: 4.00 p.m. -5.00 p.m. .

Answer All Questions.

(01)  (a) What will be the value of x for the vectorequationaxx +afa-x)+b=0,

where @ , b and x are vectors.

(b} Find the vector equation of the line passing through the point (3, 1, 2) and
perpendicular to the plane r - (25’ —j+ fc_) =4 ‘

(c) TFind the acute angle between the planes x +y =1 and 2x — 3y =0

(02) (a) Find the domain of the vector valued function.,
. 1 .,
F(t) :VB_t3£+;E}u+}n(t+ Dk.
(b) Find the limit, if it exits, of the vector functions listed below. State so if the limit

does not exist.
~ ' t_
(i) lim (log (1-1) i+ tant i+ (e 1) k) :

£-0 t - t t -

@ tim((5=1) e+ (2(m)) 1+ 22 k)

(c) A particle moves so that its acceleration is given by a = Scost { — 3sint . If the

particle is located at (—3, 2) attime ¢t = 0 and is moving with a velocity given by

—3i+2j. where t isthe time. Find its velocity and Position of the particle at

time ¢t.




